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Max. Marks : 80
| uctions

he question paper Comprises foyy Se
sper. All questions are compulzory

ection A IQn; 1}:0 20all questions and parts there of
g t1 ¢ 1
_‘:jiI::::u_mg“e'ersotiil?:eesillons (:\ICQ§). very short answer questions and assertion-reason type
1estic - S€ should be given 1N one word or one sentence,
., Section B Qns. 21to 26 are short answer type questions, carrying 2 marks each. Answers to
these questions should in the range of 30 to 50 words ‘ .

ection C Qns. 27 to 33 are short answer ;
ese questions should in the range of 50
ection D Qns. 34 to 36 are long answer
questions should be in the range of 80 to
There is no overall choice. However, inte

to attempt only one of the alternatiy

! Wherever necessary, neat and properly

3o
=
7

Ctions A B, ¢

and D. There are 36 questions in the question

2 UhH

are of one mark each. These questions

1

tr

¥

type questions, carrying 3 marks each. Answers to
t to 80 words.

type question carrying 5 marks each. Answer to these
120 words.

rnal choices have been provided in some questions. A student
es in such questions

labelled diagrams should be drawn,

b

i
r

Section A

{ 1. An object is placed at a distance of 10 cm in front of a plane mirror, then determine the distance
of image from mirror.

Or
An object is placed 20 cm from the concave mirror of focal length 10 cm, then where will the
image be formed?

.. l'Carbon tetrachloride is not a good conductor of electricity”. Give reason to justify this
’. statement.
13

While breathi ut, point out the changes you think occur in diaphragm and intercostal
- N reathing out, =
1 Muscles,

2 2avised to ttempt this sample paper without referring the answers given here. However, cross check your answers
e L ; er.
"2 answers given at the end of paper after you complete the pap
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3 i AR m/s while its velocity in

solocity of light in air is 3x10 / o

4. Ve A ) l}ﬁ * 1‘
r . .

ht ray enters from medium A to medium B as shown ip the figur, Win §
T4 A1 A W v 1 ) ' ’ . --
I3 rthan Orlcsslhan i i 1

i “this medium.
-tive index ol this mediu
A efractive 1
Find ref

; : elative to medium A be greate
ractive index of medium B relative to |
refractive index ¢ ik
Medium 13 :
1
: 1
1 Mudium/\/‘/ ‘
e . spectively, Wi j A
-clively. What js .
ﬂl(} COrr[;;\, ! ,l

pH of four solutions A, B, Cand D arc 2, 7, 8 and 6 e

order ol acidity of these solutions?

Name the enzymes are involved in the starch digestion in mouth?

6.
() g
Name the method by which & vdra reproduces.
second in a 4 Q resistance. Determine the Poteng, |

Is this method is sexual o asexyy g
all §

7. 100 J of heat is produced each
difference across the resistor.

8. While cooking, if the bottom of the vessel is getting black on the outside, “'ha;; :

means?
Cr

What are oxidising agents?
to glucose that enter the nephron along with filterate?

Or
Why respiration in considered as an exothermic process?

9. What happens

10. Give the relat

11. An element A burns with golden flame in air, 1t reacts with another element ¢
(atomic number 17) 1o give a product C. Ap aqueous solution of product € o 4
electrolysis gives a compound D and liberates hydrogen. Determine compound D,

12. What is the colour of the emergent r
hollow glass prism?

ay when a white light js incident on a thin-walle |

13. What are alloys?
Or
What is a homologous series? Explain with an example.
Assertion-Reason Type Questions (Q. Nos. 14-16) _
ding §

I each of the Jollowing quest [ons, a statement of Assertion is given by the correspon

Slatement of Reqson, Of the statements, mark the correct answer as .
(a) If both Assertion and Reasop arc true and Reason is the correct explanation of
Assertion,

e H 1 i f

(b) It both Assertion and Reason are true, byt Reason is not the correct explanation o'
Assertion, G
(c) If Assertion js true, but Reason i false.
(d) If Assertion js false, but Reason is trye,
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"sscﬂion Transpiration s

I A n -
g vapout: Proce

S5 in whi
\'IHCI] we
vater s lost in the form of

Reason Transpiration oceypg thy water
‘ough th
L&

__ion The or: Euard celle -
ssel tion The g1 dl)h of v vVersys 7 f Lcells present on the leaves

- e S I[(‘"- ¢ lcaves,
eason According to Ohyy'y |

dirt‘f”.‘-' proportional to poteq

2 ‘i‘
ac . i

. Ck. l .undur.mr IS straight line

*Wo clectric curre -. .

- - L

oore tial difference
certion Food cans are

a5 1S are coated

nt flowin
i ‘ £ through a cor - s
across its ends. ; R
ith tin .
o 'lh tn and not with zinc
- S reactive than tin |
? | er Q. Nos. 17 - 20 contain five gy},
"f*}‘};]"‘"‘s in these questions,
e :

» Read the following and ansyey any

Reasont Because zing is le

parts e; :
each. You are expected to answer any four

four questions f;

‘. { s from 17 (i /

; Flowering plants reproduce sexual] b l ot

b rocess the pollen from male amhery :
of this process, answer the followin

ist S process known as pollination. In this
rans_.fe;-red to the female stigma. On the basis
3 g questions.

L) which of the following is the .
g | flower? correct sequence of event of sexual reproduction in

(a) Pollin:ation, fertilisation, seedling, embryo
(b) Seefllmf.g, embryo, fertilisation, pollination
(c) Pollination, fertilisation, embryo, seedling
| (d) Embryo, seedling, pollination, fertilisation
(7. (ii) The two nuclei at the end of the pollen tube are called
(a) tube nucleus and generative nucleus
(b) sperm and ovum
(c) generative nucleus and stigma
(d) tube nucleus and sperm
17. (iii) Double fertilisation involves
(a) fertilisation of an egg by two male gametes
(b) fertilisation of two eggs in the same embryo sac by two sp
pollen tube
(c) fertilisation of egg and ce
tubes
(d) fertilisation
7. (iv) Which one of followin
(a) flowers are large and showy
(b) flower remain closed and do not open
(c) stigma and anthers mature at the same time
(d) Pollen is produced in very Jarge quantities
7. (v) Which one of the following statement is not true?
(a) Exine of pollen grain is made up of sporopollenin
(b) Pollen grains of many species cause seven allergies
(c) Pollen in liquid nitrogen can be used in the crop bre
(d) Tapetum helps in dehiscence of anther

erm brought by one
ntral cell by two sperms brought two different pollen

of egg and central cell by two sperms brought by sgme poller tube.

g is one of the characteristic of self-pollinated flower?

eding programmes
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Srudy these information related to answer the any four questions thay Fdk
< ; S0 AL ol

18. Read the following and answer any four questions from 1861} 1o j 8¢
- fare 2

-
e

Element Atomic number Electronic configuration
A " 2.8.1 7
B 13 :_ 8.3
c 19 2.8.8
D | 20 2882 l
3 17 2.8.7 ‘m
(3. (i) Write the increasing order of elements A, C, D @ fm,,hasis of thei,
characteristics., T
(A)D <C< A B C<h< A (c)A<D<C (d)D < 4 g
18. (i) Which element can form amphoteric oxide?
(a) None (b) B (£ E @y n

18. (iii) Which of the [ollowing statement is correct about ‘A2
(i) Itis highly reactive.
(i) Itis immersed in kerosene to prevent reactivity in atmosphere.
(ii1) It is metallic in nature.

(iv) Tt have high value of electronegativity.

(a) (1), (ii) (b) (ii), (iii), (iv) (c) (i), (iD), (iii)
18. (iv) Which of the following statement is correct?
(a) B is noble gas

(c) D is metallic in nature

(d) only i)

(b) C have valercy of -
(d) A belong to 'p’-block
I8. (v) Which of the following pair belong to same period?

(a)A,B.E (b)A,B,C, D ()A, D (d)D.E

19. Read the following and answer any four questions from 19 (i) to 19 v).

When an electric current is

passed through a high resistance wire like nichrems -
the resistance wire become

s very hot and produces heat. Heat produced is given b
H =1I’R:
where, 7 is the current, Ris the resistance and is time for

. (i) If the current passing throu
will become

(a) two times
(c) four times

which currentis passad.
gh a conductor is doubled, the change in heat preduc

(b) three times

(d) None of these
19. (ii) In the circuit given below,

40w 60w

N

/ I
—IHH—=(4)
_ 6Y
The order of heat produced in the three bulbs is
() Hosw = H gy = Hegy (d) Hysyw > Hyow < Hoow
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i) The filament type eleets

| 191

ik (a) MOst of the elecyyio _
: nall 1€ power cqp Power efficieny 1,
(b) st amount of elecyyic sumed by i, " becayse
(c) most of the electpi, Power Consumed CALIS converpeq i lig}
£ amount of IC power ¢ ¥ ilamen ; 0 B
| ) Power ig converte Onsumed by flame His converted into heat
g (d) None of the abgye ted into light "¢t appears ag heat and small
] i K potemial differe
.o “\} i L. nce Uf I~ .
gl electric iron. The heat 250 V s applied acrog
- Produced jp, § Hed across g rogj
(a) 10507 0's will be “Istance of 500 £ in an
(©) 15201 ;s; 1250 3
1650

R R
LR Ry glv.,—.-.
N
N
H—— o
Vv

U | v
Choose the correct statement(s) (n)

(;; gil i 23 > §3, more heat will be produced in R, in circuit I.
tc) o Rl g Rz Z Rs » more heat will be produced in R, in circuit II

1 2 3, equal heat will b ducedinb .
(d) None of the above e produced in both the circuits.

20, Read the following and answer any four questions from 20 (i) to 20 (v).

Placentaisa disc-lik.e structure in the lining of the uterine wall. It contain villi on the
embryo side of the tissues and blood space on the mother side surround the uilli. On
the basis of above passage answer the following questions.

50. (i) Which of the following is not a true statement about a placenta?
(a) It is an organ that is found in all species
(b) It attaches the foetus to uterine wall
(c) Provide nutrients to the foetus
(d) It allow the foetus to transfer w
20. (ii) The diagram show a developing foetus. Where does
mother and foetus occur?

aste products to the mother bloodstream.
gaseous exchange between
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ised with sperm?
5y What are the features of human eggs, when comprised
20. (in

Size of human egg  Number of sperms

(a) large small
(b) large large
(c) small large
(d) small small

>0. (iv) The diagram show part of placenta
20. 2 Mother vein

1. Mother GHPWLL/\/ /

Placenta

\_'_1

4 ] /el
St von 3 Umbilical artery

In which part does the blood contain the most oxygen and nutrients?
(a) 1and 3 (b) 1 and 4

(c) 2and 3 (d) 2 and 4

20. (v) Where is ovulation most likely to occur?

(a) about halfway between the start of one menstruation and the next
(b) atthe of €| OF Mme Ao 7D

(c) 1-5 days before the start of menstruation
(d) 5-10 days after the start day of menstruation

Section B

IR st

21. Electric motor is a rotating device used for converting electric energy into

mechanical energy. The diagram of electric motor is given below

Rectangular coil

g 1 ¢

T

Permanent  Split rings

magnet (R, and R,) —Brushes

(XandY)

A HHHH—(:}——
A simple electric motor
Explain the functions of the following parts shown in above diagram:
(i) Permanent magnet
(ii) Split rings (commutator)
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a rreateda Wstrous, givaya, . clem
= cnt
E'lCtl()n 'nix“ M

b ! s
y I-I"-,Il‘nl““m‘ of bubbleg in re
U

-Ic‘ﬂ“"m o trca‘ted With hydrg h 're. He Made the h‘ydm-‘idc. He observed the
; udllf"d gas? Write chemicg) equc ‘l-m.": acid llisz ?QL“L‘ observation when this

o e e ations * Sugges ; A S .
(i) why is ‘reproductiy, health ons for the OW can he identify the

. Cactions i
® mr educatjon S Involved,
17+ .. whyisbirthe 100" im :
® - i) why ontrol Necessary) Portant?

AR

With sodiym,

TN

Pt

\fention the function of the e s Or
eproductive system, Wing reproductiy
e

o T ¢ structures present in female
“v‘ Vagina

. (ii) Oviducy
Observe the 10!1?\\'ing table ¢
£ 94 £ the table. Write the
= ( ) Sy

: areful]
lﬂf'[)[‘n}ation

Yan
yandmatch the components of part I with part I1

_ ﬂbout corre " :
Part | o ¢t matches jn complete sentences.

o —

—

e R _ Partn N

Human beings S e S
- —— nspiration
Unicellular organisms ““G‘; L e Pl it
. S rination
Plants A i
———— L ___Diﬁusion

i .qtify the compound X 5
95, Identil} _ 4 on the basis of the reactions ive i '
5. e n below. the
~ame and chemical formulae of M et given below. Also, write

+2Zn A+H2(g)
Compound HC!
+CH3CO0H
C+H,0
Or
How the following substances will dissociate to produce ions in their solutions?
(i) Hydrochloric acid (ii) Nitric acid
(iii) Sulphuric acid (iv) Sodium hydroxide
(v) Potassium hydroxide (vi) Magnesium hydroxide

26. Derive the formula for equivalent resistance when three resistors R, R, and R; are

connected in series.

L SR S

Section C

27, (i) Draw a diagram of excretory system in human beings and label on it: Aorta, vena
| cava, urinary bladder, urethra.

(ii) List two vital functions of the kidney.
8. Consider the following cross which describes the process of sex-determination in

human beings.
Mother's €99 Father's sperm

OO PR ONO

® @ ® ©

- \ : : - ' rite about it in your own words.
Recompile the information given above and write about y
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what do vau understand by the powers ol a lens? Deline the unit of POwer of
at o .

- - o Blnened ! th
Mo thin lenses of powers £A5D and =2.5D are placed in contact, Fipg the S
> Po

. ¥ 1]
and tocal Tength ol the Tens combination,

29, W
() "
Plements forming tonic compounds nllnill. noble gas c!ncl"‘?nic conligurgy;
cither paining ov losing clectrons from their \’:l]“‘.llk‘{.."sht'“"j- Explain giving :-0.
why carhbont cannot attain such « cul!flj'.lll':nl‘_m _ln this manner g f;)rfds?
compotnds. Name the tvpe ol bonds formed in ionic compounds ang Ity
compound formed by carbon. Also explain, why covalent compounds h:wz-l [lhe
melting point? he
31. A metal carbonate X on heating with an acid gives a gas which when passed thy,
a solution Y gives the carbonate back. On the other hand, a gas G that is Obtainc;gh
anode during electrolysis of brine is passed on dry Y, it gives a compound Z, useq [at
disinfecting drinking water, Identily X, ¥, G and Z. nr

30.
; \

32. Acoppercoilis connected to o galvanometer, What would happen, if a bar Magnet j
(1) pushed into the coil with its North-pole entering first,
(i) at rest inside the coils and
(it) pulled out again?
Or
A plotting compass is placed inside a solenoid and the compass needle is pointing in
the direction as shown in figure.
(i) Complete the diagram by drawing arrow heads to indicate the direction of the
current flow,
(i) Describe the direction of the magnetice field inside the solenoid.
(iii) Il'key K is opened, what will happen to the compass needle?

Solenoid

Section D

33. The biotic components can be grouped according to the manner in which they obtain
their sustenance from the environment? Elaborate the various groups into which the
various biotic components are classilied.

34. (aliThe magnification produced by a plane mirror is +1. What does it mean?

(b) What is the nature of the image formed by a concave mirror, if the magnificatio?
produced by the mirror is - 0.75?
(ii) A bus uses a convex mirror as view finder whose radius of curvature is 4 m. A C.afl[:
coming behind the bus, which is at a distance of 20 m. What will be the POS‘“;E

and size of the image of the car when observed by the driver of the bus through
convex mirror?
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% o e ;.Df lens j5 4 1 F OF
. dwerging op e ind the
o 211’] i * locg] lt‘n tl £
: 3i) Calculate the ¢ Sihg: &th of the lens. 1s th
\ of focal lungth];\(‘;dnc" atwhich ay object sk ) Prc“c"lbed .
€M to obygj Should be
n

5 \\ 11 a1 I" W atf‘l Ot CI'VST.E'[] Isal
3 commercially import i

an (
-..['\ '\l 1“1"!Ll‘lt10n HO\V Comlj

placed infront of a concave lens

ai
1image of half of its size.

ound wh 1
this ich has ten water m

Coj oleculcs as water of
equations. List any two S Pound obtained? Ry

. €S of thig Compound, plain by giving chemical
36. 1-7‘“0!1?“1'1“@_ between the followin

(i) Vegetative propy Agation and ¢ X .terms; "
(i) Bud of Hvdrq and B, ol Spore formation

(i) Fragmentation apg mamcfﬁ:{”
(iv) Fission in Amoep, and Plasm, 12’“
(v) Pollen tube and style s
Write the function of the followin 5
(1) Prostate gland g(" i
(iii) Urethra (i:; :2::;
(v) Seretam Oriedorg

Scanned by CamScanner

=

mn g o Teve et P R
A e e
B

1
=
ot amtnter

g p o b

e

L

H
y
H
g
b i
AR



